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H3l embedding



Method to calc efficiency

MC 

(pt,eta) uniform

pt [0,8] eta [-1.5,1.5]

MC (pt,y) uniform 

MC pt weighted, y uniform

MC pt&y weighted

Efficiency vs pt

(|y|<0.5)

Reco data

Pt dis. & y dis.
Boltzmann corr. 

to MC pt dis.

Compare y dis of reco data & mc, the 

ratio fitted by quadratics to correct mc 

y dis.  

Add a pt corr. on reco data, to get closer to the real distribution

Tried a 3-cycle iteration, the 

efficiency seems stablablized

Compare the topological variables, 

to see whether reco mc coincide 

with reco data.



Results: topo variables



Results: topo variables
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Results: efficiency

|y| < 0.5

minbias Nevt~3*10^9


